1910521

Plan
E000953/ J

N
I [=)
c|AN|D
£lsla
512
CJl
o™ (qp)]
T
h —
x |8
@) N[
&= s
LJI
MRS
S22
i
< @ (5|8
o Sl=|2
L S
~
— «©
< -
L
w

Scale: 4:25

Date

Detail A
Default mounting holes

N
E000953 / J




* for BZ10 attachment

E000953 / J

Material Material Seat width
No. Plan Article Quantity | | No. | Seat depth Colour 40 45 50 Quantity
1 X001016 (M8 DIN985) 1001682 6 12 42-48 Black skai / Blue lining 1908874 | 1908875 | 1908876 1
2 X003403 1617400 4 42-48 Black skai / Green lining 1908868 | 1908869 | 1908870 1
3 Y017414 1775254 (40) 1 42-48 Black skai/ Red lining 1908871 | 1908872 | 1908873 1
Y017984 1769754 (45) 1 42-48 Black skai / Grey soft 1907467 | 1907468 | 1907469 1
Y017889 1776054 (50) 1 50-52 Black skai / Blue lining 2995195 | 2995196 | 2995197 1
4 Y018411 1778354 (40) 1 50-52 Black skai / Green lining 2995198 [ 2995199 [ 2995200 1
Y018368 1778454 (45) 1 50-52 Black skai/ Red lining 2995201 | 2995202 [ 2992503 1
Y018369 1778554 (50) 1 50-52 Black skai / Grey soft 2995204 | 2995205 | 2995206 1
4* Y024071 2080754 (40) 1
Y024008 2078754 (45) 1
Y024072 2080854 (50) 1
5 Y019775 1790554 1
6 M6 DIN985 1001680 12
7 M6x12 1007000 4
8 M12 PA6.6 1993362 2
9 M8x20 DIN7991/8.8 1903136 4
10 M8x40 1008739 2
11 M6x30 DIN7984/8.8 1992721 12
13 30x15 1009992 2
14 Y021021 2007454 1
15 Oax11 1001583 4

—_—
©
—_
()
O
N
—_—
SEAT FRAME L35 FOREST3 ten o
Sheet 2/2 E000953/ J
Scale: 4:25 Drafted Verified Confirmed \\\V/’/
Date 16/04/2014 | 31/08/2021 31/08/2021 URE
Initials SD SD PJ 000,




